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Factor each of the following:

1) 3x4 -15x2 +24x 2) 18 a3bh¢ + 27ab2 - 36ab

3¢ (1X-5<% ) Qaly (zarh’ +3b -4 )

3) -21rt - 49 r* - 3513t 4) 6 xy2 + Tx2y + 2y
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Simplify then Factor:

1) 2x3-5x+7 +6x3 +x+1
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2) -Tn3y -5n2y3 + 2ny2 -n2y3 -n3y -12ny
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Prime factorization of 120

Hint: Product of primes "\
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Polyn mials
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B\ Monomial 1. term

I

—

Binomial & -terms

Trinomial 3 terms


http://www.youtube.com/watch?v=DjvmLDas_8w&feature=channel
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Terms are separated by “+” and “-* signs.
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% How many terms?
4x-5y+q @
5(x-3y) @
3x-4 @
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%O (\\)6 - How many terms?
IXtdy-ox 2ytx
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Simplify:

2X _7 + 3x2 ,\gx -2 - 2X2
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3.7 Multiplying Polynomials




Expand and collect like terms.
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AX =10 X 2 —16 %
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Numbers, Relations & Functions 10 Name

Mutilpying Polynomials Date

Find each product.

D s6s+3) I 2 86r+3)

7’1( 3) 2(8x+ y) 7{1( 4y Smn(3m + 2n)

* 5y 7(x—7y) * 6) 2mn(8m — 2)

7 (4x —23)(6x + 63) 8) (6x+3y)(4x - 7y)

9 (2x +5)(7x — 8y) 10) (3x +63)(5x — 8y)

11) (5x — 49)(5x° — 4xy + 63°%) 12) (8x — 7)(6x* + 8xv + 33°)
13) (6a* —2a—3)(8a+2) 14) (2k% + 8k —2)(7k +4)

15) (7a* — 2ab +2b%)a* — 2ab — 85%) 16) (x? —4xy + 20°)x* — 220 — T)?)
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